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B. A. (HONOURS) ECONOMICS  

(BAECH) 

Term-End Examination  

December, 2024 

BECE–144 : FINANCIAL ECONOMICS 

 Time : 3 Hours    Maximum Marks : 100 

Note : Answer questions as per the instructions 

given in each Section. 

Section—A 

Note : Answer any two questions from this Section. 

2×20=40 

1. What do you understand by the term ‘financial 

instruments’ ? What role do they play in a 

modern economy ? 20 
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2. Discuss the conceptual framework of 

Markowitz model. How does prospect theory 

explain the variability in the investor  

behaviour ?  20 

3. How is a derivative different from a share ? 

Discuss the pricing mechanism of ‘options’ and 

‘swaps’.   20 

4. What are financial markets ? Explain their 

features and discuss the role financial markets 

play in the economy. 20 

Section—B 

Note : Attempt any four questions from this  

         Section.  4×12=48 

5. How are the financial institutions regulated ? 

Discuss such regulations. 12 
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6. Discuss the various types of errors that may be 

present in a sampled data. 12 

7. What do you understand by ‘bond yield’ ?  

State how yield to maturity of a bond is 

computed.  4+8 

8. Explain the concept of ‘Present Value’. Discuss 

how present value of an infinite series of cash 

flows is calculated. 6+6 

9. Discuss the ‘discounted utility model’. How can 

this model be extended to choice under 

uncertainty ? 8+4 

10. Describe the various sources of financing for a 

corporate firm. 12 
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Section—C 

Note : Attempt all questions from this Section. 

 2×6=12 

11. Explain the following : 

 (a) Ellsberg Paradox 

 (b) Holding period return 

12. Differentiate between the following : 

 (a) Money market and Capital market 

 (b) Disposition effect and Endowment effect 
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BECE–144 

ch- ,- (vkWulZ) vFkZ'kkL=k 

(ch-,-bZ-lh-,p-) 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-bZ-lh-bZ-–144 % foÙkh; vFkZ'kkL=k 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % izR;sd Hkkx esa ls iz'uksa ds mÙkj fn, x, 

funsZ'kkuqlkj nhft,A   

Hkkxµd 

funsZ'k % bl Hkkx esa ls fdUgha nks iz'uksa ds mÙkj nhft,A 

2×20=40 

1- ^foÙkh; ys[ki=k* in ls vki D;k le>rs gSa \ ,d 

vk/qfud vFkZO;oLFkk esa ;g D;k Hkwfedk fuHkkrs  

gSa \    20 
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2- ekdksZfoV~t+ ekWMy dh ladYiukvksa dh ppkZ dhft,A 

lEHkkouk fl¼kUr ,d fuos'kd ds O;ogkj esa fo"kerk 

dks dSls le>krk gS \ 20 

3- ,d O;qRiUu] ,d 'ks;j ls fdl izdkj fHkUu gS \ 

^fodYiksa* vkSj ^fu{ksi&fofue;ksa* ds dher fu/kZj.k 

la;a=k dh ppkZ dhft,A 20 

4- foÙkh; cktkj D;k gaS \ mudh fo'ks"krkvksa dh O;k[;k 

dhft, vkSj ppkZ dhft, fd vFkZO;oLFkk esa foÙkh; 

cktkj D;k Hkwfedk fuHkkrs gSaA 20 

Hkkxµ[k 

funsZ'k % bl Hkkx esa ls fdUgha pkj iz'uksa ds mÙkj nhft,A 

4×12=48 

5- foÙkh; laLFkkuksa dks dSls fofu;fer fd;k tkrk gS \ 

,sls fu;eksa dh ppkZ dhft,A 12 
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6- ,d izfrn'kZ vk¡dM+s esa mifLFkr gks ldus okyh 

fofHkUu izdkj dh =kqfV;ksa ij ppkZ dhft,A 12 

7- ^½.ki=k izfriQy* ls vki D;k le>rs gSa \ ,d 

½.ki=k ds ifjiDork ij izfriQy dh x.kuk dSls dh 

tkrh gS] crkb,A 4+8 

8- ^orZeku ewY;* dh vo/kj.kk dh O;k[;k dhft,A 

ppkZ dhft, fd udn izokg dh vuar  Ükà[kyk ds 

orZeku ewY; dh x.kuk dSls dh tkrh gSA 6+6 

9- ^cfÍr (dkVkÑr) mi;ksfxrk ekWMy dh ppkZ dhft,A 

bl ekWMy dks vfuf'prrk ds varxZr pquko esa dSls 

c<+k;k tk ldrk gS \ 8+4 

10- ,d fuxe IkQeZ ds foÙk ds fofHkUu lzksrksa dk o.kZu 

dhft,A   12 
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Hkkxµx 

funsZ'k % bl Hkkx esa ls lHkh iz'uksa ds mÙkj nhft,A 

2×6=12 

11- fuEufyf[kr dh O;k[;k dhft, % 

 (v) ,YlcxZ fojks/kHkkl 

 (c) /kj.k vof/ izfriQy 

12- fuEufyf[kr ds chp esa varj Li"V dhft, % 

 (v) eqnzk cktkj vkSj iw¡th cktkj 

 (c) Loo`fÙk izHkko vkSj cankscLrh izHkko 

 

 

 

 

 × × × × × × ×  
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